Monday 30th November

Tuesday st Decemhber

ARITHMETIC BOOSTER

7x5=

?7-20=50

12+2=

4x3=

1/3 of 60 =

45—15 =

8x10=

18 +42 =

36—10=

10. 1/4 of 20 = X \s

Si

Wednesday 2nd December

10. 12x2 = X\s

ARITHMETIC BOOSTER

70 +? =100

46—16 =

16+2 =

60—I1 =

7+?7+6=18

5x3=

80+ 10=

20—9 =

36 +10=

Si

10. 1/3 of 42 = X \s

ARITHMETIC BOOSTER

12+7?7=20

5x5=

9+9+?2=20

2/3 of 21 =

17+ 82 =

3x3=

97—30 =

1/4 of 16 =

2x10=

gﬂ




Thuwrsday 3rd December

ARITHMETIC BOOSTER

i

47 + 13 =

2. 50+?7=100

3. 25—1=

4. 3x5=

5. 1+9=

6. 90+10=

7. 45—12=

8. 8+2+8=

9. 96—30=

o

10. 4x10= X%gg

Friday &4th December

ARITHMETIC BOOSTER

1. 99—1=

2. 8x5=

3. 7x2=

4. 15+5=

5. ?7+20+20=60

6. 20+5=

7. 10x3=

8. 90+0=

9. 25+25=

10. 55—15= X\s

Qﬂ




